

ON η -EINSTEIN P-SASAKIAN MANIFOLD

¹Gajendra Nath Tripathi and ²Dhruwa Narain

¹Faculty of Mathematical and Statistical Sciences,
 Shri Ramswaroop Memorial University, Lucknow, India

²Department of Mathematics and Statistics,
 D.D.U. Gorakhpur University, Gorakhpur - 273009, India
 E-mail: ¹drgnt1979@gmail.com, ²dhruwanarain.dubey@gmail.com

Abstract: In this paper, we have studied, if a p-Sasakian manifold is η -Einstein then the relation $R(X, \xi)C = C(X, \xi)R = 0$ holds. If $R(X, Y)S = 0$ holds on η -Einstein p-Sasakian manifold then it is an Einstein manifold, where R, C and S are the Curvature tensor, Weyl conformal curvature tensor and Ricci tensor respectively. Moreover we have also studied ξ -conformally flat contact metric manifold.

Keywords: Sasakian manifold, η -Einstein manifold, Conformal Curvature tensors.

2010 Mathematics Subject Classification: 53C05, 53C25, 53C50.

1. Introduction

Let M^n be n-dimensional C^∞ -manifold. If there exist a tensor field F of type (1, 1), a vector field ξ and a 1-form η in M^n satisfying

$$\bar{X} = X - \eta(X)\xi, \bar{X} = F(X), \eta(\xi) = 1 \quad (1)$$

Then M^n is called an almost para contact manifold[2].

Let g be the Riemannian metric satisfying

$$g(X, \xi) = \eta(X) \quad (2)$$

$$\eta(FX) = 0, F\xi = 0, \text{rank } F = (n-1). \quad (3)$$

$$g(FX, FY) = g(X, Y) - \eta(X)\eta(Y) \quad (4)$$

Then the set (F, ξ , η , g) satisfying (1), (2), (3) and (4) is called an almost para-contact Riemannian structure. The manifold with such structure is called an almost para-contact Riemannian manifold [6].

If we define $F(X, Y) = g(\bar{X}, Y)$, then in addition to the above the following relations

$$F(X, Y) = F(Y, X), \quad (5)$$

$${}'F(\bar{X}, \bar{Y}) = {}'F(X, Y), \quad (6)$$

$$(\nabla_X \eta)(Y) - (\nabla_Y \eta)(X) = 0, \quad (7)$$

$$(\nabla_X \nabla_Y \eta)(Z) = -g(X, Z)\eta(Y) - g(X, Y)\eta(Z) + 2\eta(X)\eta(Y)\eta(Z) \quad (8)$$

$$\text{And } (\nabla_X \xi) = \bar{X} \quad (9)$$

also holds, where $'F$ is 2-forms.

Let us consider an n -dimensional differentiable manifold M with connection ∇ where, ∇ is the covariant differentiation with respect to g .

Then it can be easily verified that the manifold in consideration becomes an almost para-contact Riemannian manifold. Such a manifold is called p -Saskian manifolds [1][4].

For a p -Saskian manifold the following relations hold:

$$R(X, Y)\xi = \eta(X)Y - \eta(Y)X. \quad (10)$$

$$\eta(R(X, Y)Z) = g(X, Z)\eta(Y) - g(Y, Z)\eta(X) \quad (11)$$

$$S(X, \xi) = -(n-1)\eta(X) \quad (12)$$

$$Q\xi = -(n-1)\xi \quad (13)$$

Where R and S are the curvature tensor and Ricci tensor respectively.

An almost Para contact Riemannian manifold M is said to be η -Einstein [5] if its Ricci tensor S is of the form

$$S = a g + b\eta \otimes \eta$$

Where a, b are smooth functions on M .

In this case we have

$$S(X, Y) = a g(X, Y) + b\eta(X)\eta(Y) \quad (14)$$

Putting $X = Y = \xi$ in (14), we get

$$a + b = -(n-1) \quad (15)$$

Also (12) implies that

$$r = n + b. \quad (16)$$

From (15) and (16), we have

$$b = -\left(n + \frac{r}{n-1}\right), a = 1 + \frac{r}{n-1} \quad (17)$$

Again from (14), we have

$$QX = \left(1 + \frac{r}{n-1}\right)X - \left(n + \frac{r}{n-1}\right)\eta(X)\xi \quad (18)$$

Where Q denotes the Ricci operator, i.e. $S(X, Y) = g(QX, Y)$.

2. Curvature Tensors on η -Einstein p-Sasakian Manifold

Weyl conformal curvature tensor C is defined as

$$C(X, Y)Z = R(X, Y)Z - \frac{1}{n-2}\{g(Y, Z)QX - g(X, Z)QY + S(Y, Z)X - S(X, Z)Y\} + \frac{r}{(n-1)(n-2)}\{g(Y, Z)X - g(X, Z)Y\} \quad (19)$$

Using (14) and (18) in (19), we get

$$\begin{aligned} C(X, Y)Z &= R(X, Y)Z - \frac{1+a}{n-2}\{g(Y, Z)X - g(X, Z)Y\} \\ &\quad - \frac{b}{n-2}\{g(Y, Z)\eta(X)\xi - g(X, Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\} \\ C(X, Y)Z &= R(X, Y)Z - \left(\frac{2}{n-2} + \frac{r}{(n-1)(n-2)}\right)\{g(Y, Z)X - g(X, Z)Y\} \\ &\quad + \left(\frac{n}{n-2} + \frac{r}{(n-1)(n-2)}\right)\{g(Y, Z)\eta(X)\xi - g(X, Z)\eta(Y)\xi + (\eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y)\} \end{aligned} \quad (20)$$

The endomorphism $X \wedge Y$ and $X \wedge_S Y$ and the homeomorphism $R(X, \xi)C$ and $C(X, \xi)R$ are defined by

$$(X \wedge Y)Z = g(Y, Z)X - g(X, Z)Y \quad (21)$$

$$(X \wedge_S Y)Z = S(Y, Z)X - S(X, Z)Y \quad (22)$$

$$\begin{aligned} (R(X, \xi)C)(U, V)W &= R(X, \xi)C(U, V)W - C(R(X, \xi)U, V)W \\ &\quad - C(U, R(X, \xi)V)W - C(U, V)R(X, \xi)W \end{aligned} \quad (23)$$

$$\begin{aligned} (C(X, \xi)R)(U, V)W &= C(X, \xi)R(U, V)W - R(C(X, \xi)U, V)W \\ &\quad - R(U, C(X, \xi)V)W - R(U, V)C(X, \xi)W \end{aligned} \quad (24)$$

Respectively, where X, Y, Z are vector fields. Putting $U = W = \xi$ in (23) yields

$$\begin{aligned} (R(X, \xi)C)(\xi, V)\xi &= R(X, \xi)C(\xi, V)\xi - C(R(X, \xi)\xi, V)\xi \\ &\quad - C(\xi, R(X, \xi)V)\xi - C(\xi, V)R(X, \xi)\xi \end{aligned}$$

From (20) we have

$$\begin{aligned} C(\xi, Y)\xi &= R(\xi, Y)\xi - \left(\frac{2}{n-2} + \frac{r}{(n-1)(n-2)}\right)\{\eta(Y)\xi - Y\} \\ &\quad + \left(\frac{n}{n-2} + \frac{r}{(n-1)(n-2)}\right)\{(\eta(Y) - \eta(Y))\xi + \eta(Y)\xi - Y\} \end{aligned}$$

$$C(\xi, Y)\xi = 0 \text{ for all vector field } Y \quad (25)$$

And similarly

$$C(Y, \xi)\xi = 0 \quad (26)$$

Thus, we have

$$(R(X, \xi)C)(\xi, V)\xi = -C(R(X, \xi)\xi, V)\xi - C(\xi, V)R(X, \xi)\xi$$

Since

$$\begin{aligned} C(R(X, \xi)\xi, V)\xi &= C(\eta(X)\xi - X, V)\xi \\ &= \eta(X)C(\xi, V)\xi - C(X, V)\xi = -C(X, V)\xi \end{aligned}$$

$$C(\xi, V)R(X, \xi)\xi = C(\xi, V)(\eta(X)\xi - X) = -C(\xi, V)X$$

Therefore,

$$(R(X, \xi)C)(\xi, V)\xi = C(X, V)\xi + C(\xi, V)X \quad (27)$$

On the other hand

$$\begin{aligned} (C(X, \xi)R)(\xi, V)\xi &= C(X, \xi)R(\xi, V)\xi - R(C(X, \xi)\xi, V)\xi \\ &\quad - R(\xi, C(X, \xi)V)\xi - R(\xi, V)C(X, \xi)\xi. \end{aligned} \quad (28)$$

Using (26) and $R(X, \xi)\xi = \eta(X)\xi - X$, we have the following

$$C(X, \xi)R(\xi, V)\xi = C(X, \xi)(-\eta(V)\xi + V) = C(X, \xi)V. \quad (29)$$

$$R(C(X, \xi)\xi, V)\xi = 0 \quad (30)$$

$$R(\xi, C(X, \xi)V)\xi = C(X, \xi)V \quad (31)$$

$$R(\xi, V)C(X, \xi)\xi = 0 \quad (32)$$

Using in (28)

$$(C(X, \xi)R)(\xi, V)\xi = 0 \quad (33)$$

If $R(X, \xi)C = C(X, \xi)R = 0$, then

$$C(X, V)\xi + C(\xi, V)X = 0.$$

Which gives

$$R(X, V)\xi + \eta(V)X - \eta(X)V + R(\xi, V)X + g(V, X)\xi - \eta(X)V = 0.$$

This implies

$$R(X, V)\xi = -\eta(V)X + \eta(X)V$$

Therefore

$$R(\xi, V)X = -g(V, X)\xi + \eta(X)V$$

Which is true in p-Sasakian manifold.

Therefore, we have the following theorem:

Theorem 1. If a p-Sasakian manifold (M^n, g) is η -Einstein manifold then the relation

$$R(X, \xi)C = C(X, \xi)R = 0 \text{ holds.}$$

3. On η -Einstein p-Sasakian Manifold Satisfying $R(X, Y)S = 0$

Let $R(X, Y)S = 0$

$$S(R(X, Y)Z, U) + S(Z, R(X, Y)U) = 0$$

if $Z = \xi$, in the above, we get

$$S(R(X, Y)\xi, U) + S(\xi, R(X, Y)U) = 0, \text{ which yields}$$

$$S(\eta(X)Y - \eta(Y)X, U) + S(\xi, R(X, Y)U) = 0$$

Using (12), we get

$$S(\eta(X)Y - \eta(Y)X, U) - (n-1)\eta R(X, Y)U = 0$$

$$(n-1)\eta(R(X, Y)U) = \eta(X)S(Y, U) - \eta(Y)S(X, U).$$

$$R(X, Y)U = \frac{1}{n-1}\{S(Y, U)X - S(X, U)Y\}.$$

It follows that the manifold is projectively flat. But it is known that projectively flat n -dimensional ($n > 2$) manifold is of constant curvature is an Einstein manifold.

Hence we have the following theorem:

Theorem 2. If in an η -Einstein p-Sasakian manifold [3], the relation $R(X, Y)S = 0$ holds, then the manifold is an Einstein manifolds.

4. ξ -Conformally flat η -Einstein p-Sasakian manifold

Let M^n be ξ -conformally flat contact metric manifold then it follows that [8]

$$C(X, Y)\xi = 0, \text{ where } X, Y \in TM$$

We have from (19)

$$R(X, Y)\xi = \frac{1}{(n-2)} \{g(Y, \xi)QX - g(X, \xi)QY + S(Y, \xi)X - S(X, \xi)Y\} - \frac{r}{(n-1)(n-2)} \{g(Y, \xi)X - g(X, \xi)Y\}. \tag{34}$$

Using (2), (10) and (11) we get

$$\{\eta(X)Y - \eta(Y)X\} = \frac{1}{(n-2)}\{\eta(Y)QX - \eta(X)QY - (n-1)\eta(Y)X + (n-1)\eta(X)Y\} - \frac{r}{(n-1)(n-2)}\{\eta(Y)X - \eta(X)Y\} \tag{35}$$

Putting $Y = \xi$ and using (13), we get

$$QX = (1 + \frac{r}{n-1})X - (n + \frac{r}{n-1})\eta(X)\xi = aX + b\eta(X)\xi, \tag{36}$$

Where $a = (1 + \frac{r}{n-1})$, $b = -(n + \frac{r}{n-1})$ and $a+b = -(n-1)$.

Hence the manifold is η -Einstein p-Sasakian manifold.

Conversely let us suppose that the manifold M^n is η -Einstein p -Sasakian manifold.

From (19), we get

$$\begin{aligned} C(X, Y)\xi &= R(X, Y)\xi - \frac{1}{(n-2)} \{g(Y, \xi)QX - g(X, \xi)QY + S(Y, \xi)X - S(X, \xi)Y\} \\ &\quad + \frac{r}{(n-1)(n-2)} \{g(Y, \xi)X - g(X, \xi)Y\} \end{aligned} \quad (37)$$

From (2) and (12), we obtain

$$\begin{aligned} C(X, Y)\xi &= R(X, Y)\xi - \frac{1}{(n-2)} \{\eta(Y)QX - \eta(X)QY - (n-1)\eta(Y)X + (n-1)\eta(X)Y\} \\ &\quad + \frac{r}{(n-1)(n-2)} \{\eta(Y)X - \eta(X)Y\} \end{aligned} \quad (38)$$

With the help of (10), (15), (16) and (18) the relation (35) reduces to

$$C(X, Y)\xi = R(X, Y)\xi - \{\eta(X)Y - \eta(Y)X\} = 0.$$

Thus the manifold is ξ -conformally flat.

Hence we have the following theorem:

Theorem 3. A contact metric manifold M^n is ξ -conformally flat if and only if it is an η -Einstein p -Sasakian manifold.

5. Contravariant Almost Analytic Vector Field

Let the vector field ξ on a p -Sasakian manifold be contravariant almost analytic, then we have

$\xi_\xi F = 0$ implies $[\xi, \bar{X}] = [\bar{\xi}, X]$. Which gives

$$(\nabla_\xi F)(X) = 0.$$

Thus, we have the following theorem:

Theorem 4. On a p -Sasakian manifold if the vector field ξ is contravariant almost analytic. Then F is parallel along ξ , i.e. $(\nabla_\xi F)(X) = 0$.

We know that on a p -Sasakian manifold if the vector field ξ is contravariant almost analytic. Then we have the following:

$$(a) (\nabla_\xi R)(X, Y, Z, \xi) = 0$$

$$(b) (\nabla_\xi S)(Y, \xi) = 0$$

$$(c) \xi r = 0.$$

From (17), we have $\xi a = \xi b = 0$

Hence, we can state the following theorem:

Theorem 5. On an η -Einstein p -Sasakian manifold if the vector field ξ is contravariant almost analytic, then a and b are constant function.

Since $S(Y, Z) = a g(Y, Z) + b\eta(Y)\eta(Z)$.

Differentiating covariantly w.r.t. ξ , we get

$$(\nabla_{\xi}S)(Y, Z) = (\xi a)g(Y, Z) + (\xi b)\eta(Y)\eta(Z) = 0.$$

Thus we have the following theorem:

Theorem 6. An η -Einstein p-Sasakian manifold with contravariant almost analytic vector field ξ , is Ricci flat.

Acknowledgement: The authors are thankful to the Referee for valuable comments and suggestions.

References

- [1] Adati T. and Miyazawa T. (1997). Some properties of p-Sasakian manifolds, TRU, Maths, **13(1)**, 33-42.
- [2] Mishra R.S. (1994/1995, 1996). Para-Sasakian manifolds, Progress of Mathematics, Varanasi, **28/29**, 21-37.
- [3] Narain Dhruwa and Singh P.R. (1999). On η -Einstein p-Sasakian manifold, Tensor N. S. **61**, 158-163.
- [4] Ozgur Cihan and Tripathi M.M. (2006). On p-Sasakian manifold satisfying certain conditions on the concircular curvature tensor, Turk J. Math., **30**, 1-9.
- [5] Shaikh A.A., De U.C. and Binch T.Q. (2000). On K-contact-Einstein manifolds, steps in Differential Geometry, Proceedings of Coll. on Differential Geometry, 311-315.
- [6] Sato I. and Matsumoto K. (1979). On p-Sasakian manifold satisfying certain conditions, Tensor N. S., **33**, 173-178.
- [7] Sato I., (1976). On a structure similar to almost contact structure I, Tensor N. S., **30**, 219-224.
- [8] Zhen G., Cabrerizo J.L., Fernandez L. M. and Fernandez M. (1997). On ξ -conformally flat contact metric manifolds, Indian J. Pure Appl. Math. **28(6)**, 725-734.

